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Noto There are three goctions of the paper, A, B & C. Attempt- Section - A on the same paper and retum it to the
Superintendent within the given time No marks will bs awarded for cutling, erasing’gr over. wnllng Moblle phone elc.-are not -
allowed In tha examination hall, -
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ATorque . B.Wok © C.Acceleration D. Veloclly , .

............... lslhe angle between Aand Bforwhlch 1A+B‘ |A BI » ) @
A. 30° . B.45° . C.60° . D.90° -
A projectile is thrown so that it travels a maximum range of 1000m. How high will it rlse [é '

A. 500m v : B, 250m - Q 400m Q 1000m

The expression for esbape velotity 15 .uvevnnin i . ' [E

. L o : ' R2 ' a .
A2gRE B. /28R c & D. 2R
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The almosphere-is held to the Qarth by .vvvvvrerr v ST : ' [é ‘

a. Wmds B. Gravity RS o3 Clouds -D. The rolgtion of earth

Artficial salelhte FIOVES ATOUND <vvvso revesseee o o S E :
" A.Moon * . . BSun . ' CStars . D.Earth ~ ' . :

The smooth of steady steam ~ line flow is known S cvversre i : . :
A Laminar flow B. Turbulentflow - C. Bo{hA&B _ D. None of these ' .
" Bernoulli's equation is based upon law of conservation of ..........opivne, SRS ' E '
A.Mass . . B.Momentum - "~ C.Energy D.None- -

To make the frequency double of a spring oscillation, we have to rertrreeernies 'E '

. A, Reflection ofl;ght B. Refraction of light  C. Diffraction of light D. Interference of light

Write the correct optlon Le.A, B, CorDinthe empty box prowded opposlte each part
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[I, T] i dimensions of ........cmenann
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A. Reduce the mass to one ' B.Quadruple the mass C. Doublet the mass D, Half the mas
fourth ’

inan |solaled system lhe lotal energy of vubratmg mass and spring is .......: e
A Vanable B. Low T C. ngh . D. Constant 7

Which one of the following properties is not exhibited by the Iongltudmal waves?
A. Reflection B. Interference C. Diffraction’. - D. Polanquion

There is'no net transfer of energy by'parllcles of médium in .......o....
A. Longitudinal wave B. Transverse wave C ngressive wave ), Slauonary wave

Which one of the follawing propert:es proves thé transverse wave nature of light?
A, Intorference B. Refraction - C. Polarization D. Diffraction

During a sunny ‘day we see the objacts In a class room ever when all the electric are off due to

ERREE

Two bodies are sald to be in'thermal squilibrium if they have the same .

A. Temperalure B, Amountofheat -  C. Specific heat - D Thermal capacntles

Triple pomtofwaterls..:'..,-..'.'..........Z.. | ' o ' -[E
A23AEC  B.ET216%K. C.27346°F ,  D.273.46%K .
What is m'oment of‘inqrtia of a sphere? .

AMRT LB U2MR? C. 215 MR? D. 12 MR
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_ Section “B" o I " . Marks: 40
Q.2 Attempt any TEN.parts. Each part ¢arries equal marks ' : ' '
i Find The dimenslons of kinetic energy. -
il. Explain why do buses and heavy trucks have large steering wheels?
. What is head - on collision? Explain with an example; ' IS
Iv, A bucketls taken to the bottom of a'well, does the hucket poses any potentlal energy explaln,
V. _‘Why anergy savers are used Instead of normal buiba? '
vi.  Why fly wheel of an engine made heavy In the rim?
vii. A body will be waelghtless when the elevator falls down Juat liko a free falllng body. Explaln
vili. Explain any two applications of Bernoulll's equation. '
ix. When water fails. from a lap, its cross seclional area decreases as it comes down. Explaln why?
x. Explain why in S.H.M acceieration is zero when the vélocily is greatest? '

xi. The speed of a wave on a partlcular sting Is 24ms™, If the string s 6m long {o. what dnvlng
- frequency will it resonate?

- xii, How would you Justify that light waves are fransverse?
, xiii. What are the conditions for-a process to he reversible? . . . S )
' Sectlon uc" § o Marks: 27 -
Note: Answer any THREE questions. All guestions carries equal marks L
Q.3 a. Define elastic and inelastic collisiens. Drive mathernatical equauons for calculahng the ﬁnai
velocities of the elasticity colliding bodies in one.dimension,
b. Cohsider a ladder welghting 200N resulting agalnst a smooth wall such that it make an angis of
60° with the honzontal Find the reaction on the fadder due to.the wall and ground '

) Q.4- a. Show that in angular form, centnpetal accoleratnon is ac = - man

b. Water flows through a pipe whose intemnal diameter is Zcm at a speed of 1ms™, What should be .
‘the diameter of the nozzle if the water Is to emerge at a speed of 4ms™'? ' '

N Qb a Explaln the speed of soundina gas and gwe all the factors Wthh affect the spaed of sound in
the air? :

" b. Amass at the end of the %prlng describes S H.M w:th T= 0 40sec Find out awhen
displacement ls 0. 4cm

Q.6 a. Explain the mterference effect produced by thin film, ‘
b Find the efﬂciency of Carno_t's heat engine working between the steam pbint and Ice polnts. ,'



